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1.

REFRAES BB (resting membrane potential) #YETAAR AT ? (A) SWEETEE B) &
BTEE (C) FMTEE O) SEHTEE (B M—H%E

T — TR R AR R R A EIRERY (myelin sheath) ? (A) Schwann cell (B)
astrocyte (C) microglia (D) oligodendrocyte (E) satellite cell

HRABHTEESL (action potential) HYEEA: » THH—IAFCIZSERY 7 (A) EMEZEHIRK
% BEMEBL > ST EE B KB EAMRR  EREARNERE B)
FEREEERS(LE - ST RERE  FRETEAMREA @ ERFERLE (C) bR
BAKERFEIEEEAR - 87 - SR FREFENE (D) SRS HeEEA TS
2 —7FF voltage-dependent sodium channel (E) $AEE-F383E5{LBIEf% » inactivation gate
G ZIE RSN TR - RO RRE A SRR

- FFIH BHZERE{EIE - (synaptic transmission) FIRUR - PR—THAUMZ SRR 2.(A) EBnfe®aer |

IR Rz - B LU FRGANE T IEE  EAEETERESE R (B) MM
EYEAERERNVERERERSET O HEMEYENERETIEEERRANE
BAIZERRATATRTER (D) BRI EHEEBYRRL I ZRERNEE B) @iy
B IBUTAT reuptake R4S IR ZEREEIRRYREEA

THH—(EEEZERERE catecholamine #Y rate-limiting enzyme? (A) dopamine
beta-hydroxylase (B) dopa decarboxylase (C) tyrosine hydroxylase (D) N-methyltransferase (E)
choline acetyltransferase '

T5IERE F 4K (autonomic nervous system) HYRIL + (& ZEEEREY ? (A) ZRNHERE
AR TR R EIR Y E R acetylcholine (B) BIZZ BUHHARHYEITR #X Pl el
BRYER acetylcholine (C) BIZZRIfHAREE T EHHYZHE S nicotinic receptors (D) Xk
TS FRIRR AR EURE R serotonin (B) EIATRHEEAYREE BT BRESHt T

EXEEE RS EEIERRE (somatosensory) HIEIRZ ? (A) precentral gyrus (B)
postcentral gyrus (C) superior prefrontal gyrus (D) superior temporal gyrus (E) lingual gyrus

THIH— RS I & BB HYEIE 2 (A) spinothalamic tract (B) retinohypothalamic tract (C)
dorsal column-medial lemniscal pathway (D) pyramidal tract (E) nigrostriatal pathway

T —(E S AR E S B A BERTAREIE S ? (A) dopamine (B) substance P (C)
serotonint (D) norepinephrine (E) epinephrine
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10. TFIERIEEIE (phototransduction) HIRTIL » fA/FREEREY 7 (A) EIOLFENERLT »
cGMP IR (B) EHEFENERT » @7k opsin (C) EENRIERT » 5
AEASEEETEE] cone disk » HWELKRBILKIE (D) opsin EJE(L transducin » E—F7E

. 1k phosphodiesterase (E) # cone cell ErfE HAVHEEIFEYEE glutamate

11 THH—EZE A AR R R AR D - SR EIRE R 7 (A) medial geniculate nucleus (B)
preoptic nucleus {C) suprachiasmatic nucleus (D) lateral geniculate nucleus (E) nucleus of
oculomotor nerve

12. TR AEAETD > E4IR (hair cell) BIMSERE (stereocilia) EVRSEIESE(L ? (A) adenylate
cyclase (B) potassium channel (C) sodium channel (D) phospholipase C (E) nitric oxide
synthetase

13. THIH— B2 Z B mechanoreceptor? (A) hair cell (B) cone cell (C) rod cell (D) taste
bud (E) Pacinian corpuscle

14. THIRCHEZ ERE ? (A) ciliary muscle FZE2 ] sympathetic nerve FTEHfE (B) EHERER
EEITYIRERS > ciliary muscle TRJHAN (C) HIRERBRITVIHES » lens HE (D) i)
AT ERER 5 AR EHEE - 35 lens BRESSERIL IR EEEREENTT B &
BRERE T Y0F » zonular fibers AYSRIIE TFF

15. THIHF—{E B 2 E e iEak T M EE0E | (expressive aphasia)? (A) Wernicke’s area (B)

Broca’s area (C) superior parietal area (D) Orbital area (E) superior temporal area

16. TFIHF—{E+RE RSB ERYFRRIAHE ? (A) retinohypothalamic pathway (B)
mesocortical pathway (C) mesolimbic pathway (D) spinoreticular pathway (E) nigrostriatal
pathway

17. TFHR-—{E & 5 At RIS B HARY = Z2HSI&E ? (A) suprachiasmatic nucleus (B) raphe

nucleus (C) locus coeruleus (D) arcuate nucleus (E) anterior nucleus

18. THfeIEFE M JEL i IR AR , (non rapid eye movement sleep) BY4EE 7 (A) muscle
tone & (B) ILEFAYREIFLL alpha & beta JRE (C) BERETHE (D) MK FLLBEE
T (B) RFEREIRT U EEIR

19. THIEERE T HatEniR B . (rapid eye movement sleep) HYFEE 7 (A) muscle tone

K (B) HLEFRVESIEUEEREEL (C) MBI MUFERIEE (D) MR LBEE L
7 (B) RAFBHERR LR
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20. EEHEBEIHE » THE—{ETEEE KBS (A) arginine vasopressin (B) thyroxine (C)

corticotropin-releasing hormone (D) somatostatin (E) prolactin

— RIS () EmE (EE25)

21. Please select the hormones highly relating to parturition? @ Mother cortiso! @ LH (3
Progesterone @ Estrogen @ Fetal cortisol @ PGI2 @ PGF2a (8) Androgen

N DDOD B OBOE AB®ED P AG®E®

22. Choose the correct statement about hypothalamus differences in the male and female: (A)
GnRH surge control center of male animals drives the spermatogenesis; (B) GnRH surge
control center of female animals drives the maturation of follicles; (C) Estrogen enters the
fetal brain to drive the development of GnRH surge control center; (D) Androgen enter the
fetal brain to inhibit the development of GnRH surge control center.

23. Choose the correct description about the hormones regulating lactation: (A) Estrogen and
progesterone become insigniﬁcant' in regulating milk release from the breast; (B) Prolactin

production; (D) Mechanical stimuli on nipples inhibits mitk production.

24. Which is correct about the electrolyte and water balance? (A) Hypernatremia generally occurs
in patient with water intoxication; (B} Lungs are main regulators of blood HCOs3; (C)
Antidiuretic hormone (ADH) governs extent of water loss in urine; (D) Sodium {Na*} is the
most abundant cations in intracellular fluid (ICF).

25. Which ions are reguiate'd by parathyroid hormone (PTH) to maintain the homeostasis? @
Na* @ K* (@) HCos @) HPO> (B ca™ (® Mg™
IO OIOREIOIOAICLO),

26. Choose correct statement about acid-base balance: {(A) The major goal of protein buffer
system is to take H* out of body; (B) Phosphate is the major buffer system in intracellular fluid
(ICF); (C) pH change due to respiratory problems can be protected by carbonic acid/
bicarbonate buffer system; (D} Carbonic acid/ bicarbonate buffer system will be activated only
at high concentration of H'.

27. The secreted H' are buffered in urine by combining with: @ Free amino groups of protein

@ Hro.> @) HCOs @) NH; B ol ® Cf
& OG; B @B; () @@; D) ®®

L&

- stimulates milk ejection;- (C) -Oxytocin- acts—synergistically- with--cortisol- to-stimulate_milk __ _ _
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28. The energy needs to maintain our basal metabolism does not rely on: {A) Cortisol; (B) Thyroid
hormone; {C}Epinephrine; (D) Muscle activity.

29. Choose correct match for the species and their type of ventilation: (A} Birds: non-directional
ventilation; (B) Dogs: tidal ventilation; (C) Frog: unidirectional ventilation; (D) Lizards: .
non-directional ventilation.

30. The affinity of hemoglobin {Hb) for oxygen (0,) is decreased by: @ Increased [H'] @
Decreased [OH] @ Increased [HCO;'] @ increased Pco; @ Decreased temperature @
Increased 2,3-Bisphosphoglyceric acid

A DB®; B DA®;: 0 DO@; Dy PAB®®
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1. SRRV FLIHENY) Oogenesis AYIBTE (10 47) -

2. BRCAEZ B EaYE - SRIVHCERAVETRE - DURREEF R EAH
HER (1043) - |

3. HEHERTE Loyt (cardiac output) Z AEFEMER (9 53) -

4. EEBIR BN Z 4N - AR RE (6493 -

5. SREABRBEMI S/ NS Z SRS ~ Fra b o R B4t NG 2 heE (10
51) e

6. RO EBI ZELXT oEH - RERT/NEZIEDRE (1043) -
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